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@D x-7=12 @ 3+x=11 D x+8=5 @ 2-2=10
Q 3x+4=16 @ 50-6=9 Q 7x+5=33 @ 6x-7=17

® 5x-7=x+13

©® 7x-5=4x-11

® 5x+2=2x-10

©® 8xr-8=3x+12

@D 2x+13=5x+4

9x+4=22-10

@ 3x+2=7x+14

b6x—-4=x-14

© 2x-6=4x-10

7r+6=4x+15

© 4x-2=10x-20

9r-6=2x+15

< g B B>

< 5 B B>




—ROEN BX 3

—RJEIN BX

=

B K&

@D x+8=14

@ 7+x=15

= |- I < 0 5 v =
@D x-5=6 @ 8+x=12
Q 3x+5=20 @ 4x-1=19

Q 2x+18=10

@ 3x-5=13

® bx—-1=2x+11

©® 8x-5=2x+19

® 7x+6=56x+14

® 7x-3=3x+13

@ x+3=5x+31

7x—6=2x-36

@ 2x+6=6x+18

5x+7=2x-8

© 5x-5=7x—-19

1lx-5=3x+19

© 2x-3=6x-23

9x—-7=3x+17
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= |- I < 0 5 v =
@D x+1=13 Q@ 7-x=5
Q s5x+2=32 @ 7x-5=23

= b #E K&
@D x-3=4 @ 7+x=9
@ 3x+2=20 @ b5x-7=13

® bx+21=x+9

® 9x-5=3x+13

® bx+2=2x+14

® 8x—-4=3x+16

@ 4x+5=7x+17

bx+1=2x-15

@ 2x+7=56x+16

7x—4=2x-14

© 3x+5=10x-16

7x—-7=2x+13

© 4x-4=7x-19

9x+4=2x+18
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@ x+4=10

® 6+x=12

—R7IRETN BEX 8

@ 2x+13=7

® bx+7=3x+11

©® 8x-7=4x+13

@ 4x+3=6x+9

bx+7=2x-2

ad A E K&
@D x-3=4 @ 10-x=4
@ 3x+2=20 @ b5x-7=13
® 9x+7=4x-8 ® 8x—4=56x+14

© 2x-2=7x-12

15x—-11=13x-3

@ 2x+5=56x+14

7x+8=2x+13
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© 6x+11=13x-10

9x-8=6x-2
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@ z-7=6 @ 5+x=12
@ 4dx+5=21 @ 7x-5=16

o #A E K&Z
@ x+9=12 @ 8+x=15
® 2x+9=17 @ 3x-2=7
® bx+4=3x+10 ® 7x—-4=4x+8

® 9x+5=56x+17

® 8x—4=5x+5

@ 2x+3=6x+19

15x+9=7x-15

@ b5x+9=7x+1

I2x+11=7x-9

© 3x-2=9x-20

10x+3=7x+15
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© x-2=2x-5

11x—-9=4x+19
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@ z+2=10 @ 9-x=12
® 22+3=11 @ 3x-5=10

® bx+7=2x-2

©® 8x-7=4x+17
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®I—7=11 ®6+x:15
@ 2x+5=15 @ 3x-7=11

@ 4x+5=6x+9

Sx+4=2x-5

® bx+5=2x+17

® 8x-7=3x+8

© 2x-6=7x-16

7x+7=x+25

@ 6x-13=10x+15

10x+7=4x-11
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© 8x-8=11x-20

6x+9=4x-3
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@D x-5=9 @ 8+x=15
® 2x+7=21 @ 3x-5=10

D x+5=11

@ 14-x=9

® bSx+7=3x+19

© 9x+8=2x-20

@ 4x+11=3

@ 3x-5=13

@ 4x+7=6x+1

Sx+8=2x-7

® bx+5=7x+11

® 9x+2=2x-19

© 2x-9=7x-24

Sx—-3=3x+17

@ 4x+3=6x+7

5x+10=2x-8
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© 22-13=7x-7

8x—4=3x+21
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